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Credits: Four

Achievement Achievement with Merit Achievement with Excellence

Demonstrate understanding of 
evolutionary processes leading to 
speciation.

Demonstrate in-depth understanding 
of evolutionary processes leading to 
speciation.

Demonstrate comprehensive 
understanding of evolutionary processes 
leading to speciation.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

You should attempt ALL the questions in this booklet.

If you need more room for any answer, use the extra space provided at the back of this booklet and 
clearly number the question.

Check that this booklet has pages 2 – 12 in the correct order and that none of these pages is blank.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.

Low 
Achievement

9

No part of the candidate evidence in this exemplar material 

may be presented in an external assessment for the purpose 

of gaining credits towards an NCEA qualification.

























  

Annotated Exemplar Template – Achieved (Low) 

 

 

exemplar for 91605 -  2015 Total score 9 

Q 
Grade 

score 
Annotation 

1 4 

Although this candidate has given some good definitions and stated that 

selection pressures where important in both convergent and divergent 

evolution, they have not gone on to explain what those selections pressures 
were.  They have also confused analogous and homologous structures.  There 

actions limited the grade to an Achieved only. 

2 3 

The candidate is able to interpret data from the graphs provided.  Although 

they were able to state that change in perch height was because of 
competition, they did not give a named resource that was being competed for, 

nor link the increased pad size as a requirement for the increased perch 

height, thus limiting their grade to an Achieved only. 

3 2 

The candidates answer was very general without much biological knowledge 
being demonstrated.  Partial points were given but not elaborated on.  They 

have shown that they know the requirements for a fertile polyploid, but not 

what a polyploid is, how it is formed and that it is an example of instant / 
sympatric speciation. 
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Annotated Exemplar Template – Achieved (High) 

 

 

 exemplar for 91605 -  2015 Total score 11 

Q 
Grade 

score 
Annotation 

1 2 

This candidate has given relevant examples of types of selection pressures for 

both divergent and convergent evolution, but has called them ecological 

niches.  This mistake has cost the candidate a possible Merit grade for this 
answer.  They have also described or explained homologous and analogous 

structures; this also limited their grade in this question. 

2 5 

This candidate has explained that moving to higher perch heights selected for 

larger toe pads.  Although this move will reduce competition (as indicated in 
the answer), there is no named resource that was being competed for.  An 

explanation of the consequences of natural selection, or of directional 

selection, could have increased the grade for this answer. 

3 4 

This is a good example of a High Achieved answer for this question.  The 
candidate has provided a number of correct definitions related to polyploidy.  

To attain a higher grade, some explanations were required; how diploid 

gametes were formed (candidate needed to state ‘gametes’); how a named 
feature of polyploids affected their survival; why hybrid vigour was an 

advantage to the plant. 

 


